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Time ; Three hours . Maximum : 75 marks

PART A — (10 x 2 = 20 marks)
Answer any TEN questions.

1.  Define Cost Accounting.
SiL&sellene samEdluic cuamuim.
2.  Name the elements of Cost.
<L ssellamae s@mpsmar QUUA@Hs.
3.  What is Cost Centre?
IIL&s6llanan @LILILD GTETDTE) GTEma?
4. What is Prime Cost?
Wpaaenlo GlFaa) eremuig) wimg?

5.  Calculate Works Cost :
Factory expenses Rs. 700
Office expenses Rs. 300

Material consumed Rs. 3,400

B-com AF - Ebementa ot  Cost ﬂéwwir\%.

Selling exper_ises ‘Rs. 900.

Qsmfpereme SiLsssHman saTEE()S. P =7
- QgmPnarare Qeaeyser er. 700

Si@ieuas Qsawayser @1‘300

epeldumrmer Agmaiser op. 3,400

eflpuener Qgaeyser ep. 900.



10.

11.

12.

13.

14,

State any two causes.for disagreement in profits between cost
and financial accounts. '

<Lés fae sarsdud Gomuuwd PHfoe samsdwusd @omiaptb
Ceumeugnsmen ésrrm&arr’;'ua;aﬂd)' FCaaibd @reRTiq e samis.
What is Inventory Control?
sraSpLY SLHUTE eTempmed eramen?
What is Base Stock method of Pricing Material Issue? -
Siqiiue Qruy wapudd s7éE deuefluli® elamauliBgen ereamme
eTeoTa?’ ; '
What do you mean by Direct Labour? . ;
G 2 eipiy eTemLigen QUITeT wig?
What is meant by Idle Time?
eiewtman GoyLd cremuigen QuimmeT wrg)?
Define Overheads.
CupLsme|ser euamum. .
What is Apportionmént of Overheads?
CupOsme 56T 8IS [HS0 cTETDIE) 6T6men ?

" PARTB— (5 x 5 = 25 marks)

Answer any FIVE questions.’

What are the limitations of Cost Accounting?
SLsmellene sansduaer Gampurhser Wireneu?

Ascertain the Factory Overheads from the following :

_ Rs.
Office stationery 5,000
Factory lighting - . 10,000
Works Manager’s salary 22,000 ‘
Iridirept Materials 9,000
Audiﬁ fees | 13,000
Foreman’s salary ~' 13,000
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Gogyid leieu(pLd eSlLFmIgET SFiu(HeTerg.

& Y Zz A
@ wieray (3. £t) © 1500 1,100 900 500
gl qeimﬂaseh‘ ) | 75 11 9 5
Qsmflnsriser sramalEams 200 150 100 50
Qo amedl (q.) 60,000 40,000 30,000 20,000
QUi wABY (¢5.) 2,40,000 1,80,000 1,20,000 60,000
sr&8mUy wdly (en.) 1,50,000 90,000 60,000 -

Qeeygaer LGN FMDSEHEG W& b 2855 gliueamLuild
WRssaflEEn wpgenao giop WfggallsEn sidsmstlmean gumflés.
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15.

Yemeupin.  eluphisafiaimpg - Qsmfpsreane . CopOeweysamer
saTEd (H&. : :

.@{gyeueoa; TEHIOummET Gsewey 5,000
Qgmflherene Wen edlersa - 10,000
Qzmflhemena GLDGDFI'GYTI"F\ gbuerd 22,000
DG (LPE &ljé;é]@lilu ‘ | 9,000
safléans sl Lamd - 13,000
Guoavgifl FbLIETLD i 13,000 ,

The profit as per cost accounts waa.s Rs. 1,50,300. Calculate the
amount of profit as per financial accounts on the basis of the
following information :

(a) Works overheads were over-recovered in cost accounts by
Rs. 8,000

(b) Administrative expenses were over-recovered in financial
- accounts by Rs. 8,000.

(¢) Depreciation charges were over-recorded in cost accounts
by Rs. 1,900. "

(d) Interést on investments-amounted to Rs. 940
(e) Bad debts written off Rs. 650.

SLss elaned semsAud Ussssdauy @erud e 1,50,300
Qameumid eflursafleBhg Hofme sarsdudarniy Gaorusdmen
SaTdd (h6. - 0

(=1) cvqn_l_ésas-aﬁl'cmv a;mésé]u_mﬂéb ampgors BUsiul L Qsmfpsraea
Cup@seeyser eh. 8,000

(<) B fove samsducdsd Gmpeurs BSaluul L Hifeurs Gewaser
5. 3,000 ‘ '

(@) <iLsselmae samsdudle epsors Blsiull. Csulrand
. 1,900 :

(F)  paed® WBsrear aul i . 940

(2) CursQsapsiiu’ L eugrésan . 650.
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17.

Quantity :

* Semi-Annual Consumption 6,000 units

Purchase price of input unit Rs. 25
-Quarterlif carrying cost 3%

-Ordering cost per order Rs. 45

Gemaumd eNuriisafled Bhg, &éser QBS[TG'ITGD‘QSGD‘ %GU)GW jerellenar

sasE ().

aqemgu_irrazimtq;g'pasrrsz;r m&Ta) 6000 i @s6r

2_arafi_ () Sdler Qararipge cllene ¢p. 25

srenamgharear erhss Qedaib QFwa) 3%

P S EHTET ASTETADSE (5. 45

16. From the following information, Calculate Economic Order

¢

Compute the various stock leévels from the following data :

Maximum consumption in a-month

. .. . . i I3
Minimum usage in a month

Average usage in a month
Reorder period

Normal reorder period

. Reorder quantity -

Geraumb  eurhisefadimpg  LoCam

sated) (DS.

@b LIgsSDaTan JFeLIL & B&Te]

- Q@ LIssHhsTer GOPHEULE BisTe
. @ wrssdsien sysfl pisie

DM <,ENET HTELD

300 units

200 units

_ 225 units

2 to 6 months
4 months

750 units

Wé;eﬂ@u‘q/ Hlenevsenar

300 sjv@aser
200 sje@sear

225 sjv@ser

2to6 mﬁ§®5dT

@u.m'm_}rrm (DI <YEHEWTE STEVLD 4 wrgmiGeT
LM DENET < ETE 750 Siw@s6T
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Following further details are available: v

X Y Z A

Floor Space in (Sq.ft) 1,500 1,100 900 500

' Light Points 75 | 11 9 5

Number of Employees - 200 150 100 50
Total wages (Rs.) r60,(')'00 40,000 30,000 20,000

Value of plant (Rs.) ' 2,40,000 1,80,000 1,20,000 60,000
Value of stock'(Rs.) - 1,50,000 90,000 60,000  ---

Apportion the cost to various departments on the most equitable
basis by preparing a primary departmental distribution
summary. '

&G MBALL X, Y, Z g flw eperrm 2 HLSS ngpa;mmufo LHHILD
A Geaauggirpawuub Csmarperarg. g fpw ghsdmbs

AereuqmLd efupriger QUL LG

!

eflugriseT - .
- QUTL6n& LHYILD 6D | p '10,0_0'0 (
QL:IH‘[]S] LGy 6,000
Qumh Cgioménid 4,500
; L
‘ eafl eflerdg Qsaayser : 1,000
Gupuriene Qégumg'eh ' 15,000
& s (s78@ Bg) 5,000
Blengsd’ 5 | < 9,000

Qsmfe swirsgieufler smiul G Quryly 1,500
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23.

24.

From the following particulars supplied by the personnel
Department of a company, Calculate labour turnover by
applying: ’

(a) Separation method

(b) ‘Replacem_ent method

(¢) Flux method

Total number of employees at the beginning 2010
Total number-of employees at the end 1,9l90
Number of employees resigned 30
Number of employees discharged ' 50
Number of employees replaced 40

en swlueilulear uamiurert  geop Gaeumbd  urrismar
derhsgererg. vemflwrert wrpn  cSssHeven  SpEGHAA L
amp&afle) sanTdsd(Hs.

(<) fized 6fs e
() wmBlwisssd 6is weop
(@) swma &fis e

pTdUSS D @@lr_'r;g,lQLorrgg; Lanflwimariaefer Gretfmmﬂé;ma; ‘ 2010
Qmndluie QmHs QILDITQ;§ uenflwireriaefien erawrenfléens 1,990
uanflullefmpg) eledlw uarflumerisefien ereiranilGams 30
venlluded 58 6 Gedssiiul L uaflurerisaan eramanfSams 50
wrholwwrss Swrssul L uaflurerniseailer samalsms 40

Kamalesh Ltd. has three production departments X, Y and Z and
one service department A. The following figures are extracted
from the records of the company.

Particulars Rs.
Rent and rates 10,000
Repairs to plant 6,000
Depreciation of plant i 4,500
Lighting expenses 1,000
Supervisory expenses 15,000
Fire Insurances (On stock) I 5,000 |
. Power 9,000
Employer’s liability for insurance 1,500
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18.

19.

Calculate the earnings of workers A and B under Taylor’s

differential piece rate system from the following particulars.
Normal rate per hour Rs. 18 |
Standard time per unit 20 seconds

Differentjal to be applied :

80% of piece rate below standard

120% of piece rate at or above standard

Worker A produces ‘1,400 units per day and worker B produces
1,500 units per day of 8 hours.

demreumd efluhiseielmhs QLefear wrmpul L Siwe al8s S
wpeplug A, B odu Qoeaumss SerLisass Salqll  Fncllanwl
SIS (. '

@uenrar Crrésmed g wafléw . 18

S Cpb e SG&E 20 eflammg ser

Ceaumui L @{w@ 6i5& gmad : ‘

e GamnHEeUTEEHEE A0S 6556 medludier 80%

9iFlE et 2_eTaTeUTHEREE AW G 6igs smelludich 120%

8 wefl Cpyo GererL @@m prefler 2 pusdl A - 1400 S@Esdr
B - 1500 wieo@ser

Calculate the Machine Hour Rate for Machine A : |

Cost of Machine Rs. 19,200

Estimated scrap value Rs. 1,200

Repair charges per month Rs. 150

Standing charges allocation to machine per month Rs. 50
Effective working life of machine 10,000 hours

Running time per month 166 hours ‘

Power used by machine = 5 units per hour at 19 Paise per unit
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20.

21.

QuipHyd Acr @uipdly wenfl eSsGems saaTEAL Gy,
QupSssen oLssafaa @. 19,200
erTLTTé&EULBLD Sifle) QUTmET LS @ 1,200
(W MG LUl Geaay en. 150 |
@@, LissHd QuEATSHNE @HEE0 CeluiulL flame Cswasd
. 50 ‘ i TS
Qupsrsslen Qg,ul%e;rra) Gouenen QEfngLb & 10000 wewfl GBI
@@ LISSHO QubSnd Quiki@Lh srebd 166 wenfl Gprw
Qupyb maiey sl e s&8 :
R well&E 5 A EGs6T
R(H SI0GHG 19 evuaT aisid.
PART C — (3 x 10 = 30 marks)
Answer any THREE questions.
Bring out the distinction between cost accounting and financial
accounting. ‘
SLés e sasdugisGh Hfbloe serssumis@d ot
Gmgjum;em_ Qeuefl &0 EmanTiiss: ‘
Ascertain the éost and selling price from: the following :
Materials consumed Rs. 6,000
Wages paid Rs. 9,000
Works on cost 50% on wages
Office on. cost 20% on works cost
Selling on cost 10% on works cost

Profit 20% on cost.
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22:

\

Qereumid eluphisailel (BB &8s eflane whHOb ellhuener ellenaants
SenTsd (. , '

gpIGLITBeTseT HisTey ¢h. 6,000

&6l Qegusdwg em. 9,000

Qamparana Gmgb@é@maséﬁ 83).6151U_q|6;1) 50% ‘

2igeas QFweasar AarlDeraa o sasdd 20%

aflpLienar Gopbeaeysdr Qg,rrla@rj)&rrebso Qsevafler 10%

@eoruib Corss 2iL&ssdd 20%.

The following particulars have been extracted in respect of

material X. Prepare stores ledger account under Simple Average
Method and Weighted Average Method.

October 1% Balance 100 units at Rs. 6 per unit
Receipts '

5th Octo\ber purchased 600 units at Rs. 7.00 per unit
16t2 October purchésed 500 units at Rs. 8 per unit

Issues

6th October issued- . 400 units
* 15tk October issued . 200 units

25tk October issued 400 unifs

27t October issued 200 units

@6, wpoldurmar X FbupsulL e | BL-Guly SESET

dar&ssiul Bererar. sl () syrefl ellene wHmID Hleappudll L gymah

QUPEIGSD (Wenpuller sr&dlmiiy CUCTLH samédemer swrT Cauis.

2&GLTUT 1 @6y @@Ly 100 A0@GEES; . 6 aisd
QuYBDEET : _ ,

SIEGLTU 5 : 600 Si@Gae ep. 7 afsib Qsreripsed Qaiisg)
<HGLTUIT 16 : 500 Siev@ser .8 efsid Qararpse Qaligsg)
@Jl’apréj@'gei)a;m :

2ECLTUT 6 : aupriised siere| 400 @ @GsdT

&CLTUT 15 : auprised sjeme] 200 e @ser

2&BCLTU 25 ' auprhise oeme| 400 e @ser

S&CLTUT 27 : euprise 2jere 200 w@Gs6T
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